
Name: _____________________________		Date: ______________

Teacher: ___________________________		Math 8
Cumulative Review # 3.7
Show work for all questions for full credit 
& write your answers on the lines provided!!! 
(If you feel no work is needed you must explain your reasoning)
				
	1.
	
What is the value of   


	 
	A.
	0

	
	B.
	1

	
	C.
	4

	
	D.
	64



									1 ._________________________

	2.
	What is the solution to this equation?
 
4(m – 3) = 2(m – 4.5) 


	
	A.
	m = 0.75

	
	B.
	m = -0.75

	
	C.
	m = 1.5	

	
	D.
	m = -1.5


									2 ._________________________

















	3.
	Simplify the expression 4x2(-2x + 5) – 7x(3x2 – 5x + 2) 




	






3 ._________________________

	4.
	A moving company charges $800 plus $16 per hour.  Another moving company charges $720 plus $21 per hour.  How long is a job that costs the same no matter which company is used?  (You MUST Write an equation and solve for full credit) 



	









4 ._________________________



	5.
	Find the perimeter of a rectangle that has a length of 3x – 3 and a width of 4x2  
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5 ._________________________
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